ERIEFEE SRNEEPHEEFRESHTXRE RO KR

5
mEsk 1 6 HEMH
3
YT R —
SER
3 7 X[Ed
E&Hh 3
1
6 8
5
KEd 4 8 &R
$£188 58128
FiREkS
F18HEe ( RE x & )
1 2 3 5 6 G
E& 1 0 0 0 0 1
£ 0 2 0 0 1 3
FT2HE (| KE x EE )
1 2 3 5 6 G
EE 0 0 0 0 0 0
KE 2 0 1 1 4
ETIHAE ( ME x E@E )
1 2 3 5 6 G
s 2 1 0 0 0 4
£ 1 0 0 0 0 1
BEER S 8 LVER IS
F18HE (| &EE x X[
1 2 3 6 G
EEE 0 0 0 5
X i) 0 1 0 3
F2RE ( B x  BF®R ERESEIHFAIE R
1 2 3 5 6 G
BEER 2 0 0 0 0 5
BEPE 0 0 1 0 0 4




$£20H 58208
FiREkS
R (s x KE ) EEa—)LFK
1 2 3 4 5
s 0 0 0 0
KE 3 0 5 X
ERE ( SE x  FEE )
1 2 3 4 5
EEE 2 0 0 2 1
BEER 0 0 0 0 1
R OB (XE X R
1 2 3 5
EEE 0 1 0
KE 1 0 1
&R EEH
BB REHF
% 314 AR
B 31 g




